
1) 2/
1 ÷ 3/2

Answer: ____________

2) 35% of 51

Answer: ____________

3)
16 Find Volume of Cone

15

Answer: ____________

4) 16/2 - 19/3

Answer: ____________

5) 4/67 of 134

Answer: ____________

6) b

a o c
Measure angle boc

Answer: ____________

7) (-3) - 17

Answer: ____________

8)
15 Find Volume of Cone

14

Answer: ____________

9)

Name the type of angle.

Answer: ____________

10)

'Name the type of angle.

Answer: ____________

11) 88.2 - 35.4

Answer: ____________

12) 84.7 - 38.1

Answer: ____________

13) Convert the following improper 
fraction 63/9 + 34/5 to a mixed 
number

Answer: ____________

14) 4/51 of 204

Answer: ____________

15)
19

Volume of Cone
19

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

March 04, 2018

Sr: 04032018-162
 

http://www.geekschool.co.uk


16) 06:31 am To 11:04 am

Answer: ____________

17) 13/6 + 14/2

Answer: ____________

18) 63.4 - 14.7

Answer: ____________

19) 63.4 - 14.7

Answer: ____________

20) 35.1 + 62.5

Answer: ____________

21) (-39) + (-59)

Answer: ____________

22) 92 ÷ 10 x 17

Answer: ____________

23) Find perimeter of 
rectangle having 
sides a = 83 m 
and b = 51 m

Answer: ____________

24) (-50) + (-53)

Answer: ____________

25) 13/1 x 19/10

Answer: ____________

26) 54 - (-38)

Answer: ____________

27)

Name the type of angle.

Answer: ____________

28) 62% of 52

Answer: ____________

29) 62% of 52

Answer: ____________

30) Convert the following improper 
fraction 43/8 + 53/4 to a mixed 
number

Answer: ____________
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31) Convert the following improper 
fraction 43/8 + 53/4 to a mixed 
number

Answer: ____________

32) b

a o c
Measure angle boa

Answer: ____________

33) 92 + (-31)

Answer: ____________

34) Find area of triangle
h = 14 in, a = 87 in,
b = 100 in, c = 101 
in

Answer: ____________

35) Find area of triangle
h = 14 in, a = 87 in,
b = 100 in, c = 101 
in

Answer: ____________

36) Find perimeter of 
rectangle having 
sides a = 95 cm 
and b = 66 cm

Answer: ____________

37) 45.5 + 21.6

Answer: ____________

38) 09:39 am To 12:41 pm

Answer: ____________

39) 84% of 58

Answer: ____________

40) 6   3/9 - 6   8/9

Answer: ____________

Total: ___ / 40
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Answers:

1) 11/3 2) 17.85 3) 942.47779607694 4) 12/3 5) 8 6) 37 7) -20

8) 769.6902001295 9) Acute 10) Straight 11) 52.8 12) 46.6 13) 102/15 14) 16

15) 7182.7280036575 16) 04 Hours 33 Mins 17) 91/6 18) 48.7 19) 48.7 20) 97.6 21) -98

22) 23) 268m 24) -103 25) 247/10 26) 92 27) Acute 28) 32.24

29) 32.24 30) 101/8 31) 101/8 32) 28 33) 61 34) 700in 35) 700in

36) 322cm 37) 67.1 38) 03 Hours 02 Mins 39) 48.72 40) 5/9
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